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1 The area of given figure is
. P 2cm
<o e LR
4dem 4cm

a) 6em’ b) 16cm’ a) 6em” b) 16cm’

¢) 8cm d) dem’ ¢) 8cm d) dem’

* The of a triangle is the part of the (sl !L.;J:'au{? L Kb e 1 S
plane enclosed by the triangle. ;LI — (1O
a) Interior b) Exterior a) sk b) <z
¢) Union d) Altitude c) iy d) Ll

* What is the area of given figure? ?é.lzj:})(f é'/ S
a) 160cm’ b) 26cm’ a) 160cm’ b) 26cm’

2
c) 256cm” d) 80cm™ c) 256cm’ d) 80cm’

‘A rectangular region can be«divided in L?}a:.l,)c"_,».lzuauﬁ’; /l’ ..... :J/ “L.l.lcufy
two or more triangular regions by ways: - L'ﬁlp E—rﬁ.} - u;"l_l&
a)2 b)/3 a) 2 b) 3
¢) 4 d) Many ¢) 4 @ &

5 Medians of a triangle are ; Y ¢ S— RATRYERY )
a) Concurrent  b) Congruent a) Jﬂ(’f b) Ji
¢) Equal d) Parallel c) 4z d) g

One angle on the base of an isoscleles
triangle is 30 what is the measure of its
vertical angle is.

a) 30° b) 60°

¢) 90° d) 120°

The medians of a triangle cut each other
m the ratio  :

a) 4:1 b) 3:1

g) 2:1 d) 1:1

The right bisectors of the sides of a
triangle are

b) Non-concurrent
d) Non-collinear

a) Concurrent
c¢) Collinear
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a) 30° b) 60°
¢) 90° d) 120°
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